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NOTE:  

 If a candidate answers a question TWICE, only mark the FIRST attempt. 

 Consistent Accuracy applies in all aspects of the marking guidelines. 

 

LET WEL: 

 Indien 'n kandidaat 'n vraag TWEE keer beantwoord, merk slegs die EERSTE poging. 

 Volgehoue akkuraatheid is DEURGAANS op ALLE aspekte van die nasienriglyne van 

toepassing. 

 

QUESTION/VRAAG 1 

 

1.1.1 01522  xx  

   035  xx  

5x  or  3x  

 factors 

 5x  

 3x                                (3)                                             

1.1.2 095 2  xx  

      
 52

95411
2


x  

10

1811
x  

45,1x     or    25,1x  

 

 

substitution into the  

   correct formula 

 

 

 45,1x  

 25,1x                    (3) 

1.1.3 xx 32   

032  xx  

  03 xx  

 

 
 

30  x   OR     [0;3]x  

 

 standard form 

 factors 

 

 

 

 

 

 

 

 

 

 

 

 

 

 answer                    (4) 

1.2.1 
16

64


a
a  

 

8

08

06416

2

2







a

a

aa

 

 

 

 

 standard form 

 factors 

 

 answer 

(3) 

  

3 0 
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1.2.2 1622 6  xx  

16
2

64
2 

x

x  

82x    (from 1.2.1) 

3x 22   

3x  

 

 

 

  exp law 

 

 82 x  
 

 

 answer                       (3) 

1.3  
998

41002

)2(17

212 
 

17

)17(24

  

42  

22  

= 4 

common factor 

second factor 
 

                                                                                                                                                                                                                                                                                                                                                                                                                                        

simplification 

 

 

 

 

 

 

answer                        (4) 

1.4  22  yx    …(1) 

13
1

 y
x

     …(2) 

22  xy                  

  1223
1

 x
x

 

0166
1

 x
x

 

0661 2  xxx  

0156 2  xx  

0156 2  xx  

   0116  xx  

6

1
x     or   1x  

2
6

1
2 








y    or     212 y  

3

7
y    or   0y  

 

 

 

 

 22  xy  

 

substitution 

 

 

simplification 

 

 

standard form 

 

 

 

x-values 

 

 

 

 

y-values                       

(6) 
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 OR/OF 

2

2 y
x


    …(1) 

13
1

 y
x

     …(2) 

13

2

2

1



y

y
 

13
2

2



y

y
 

1
2

362 2






y

yy
 

yyy  2362 2  

073 2  yy  

0)73(  yy  

3

7
or0  yy  

1x     or    
6

1
x        

 

 

OR/OF 

 



2

2 y
x


  

 
 
 
 

 

substitution 

 

 

 

 

 

 

 

 

simplification 

 

standard form 

 

 

 

 

y-values 

 

 

x-values                       

 

(6) 

  [26] 
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QUESTION/VRAAG 2 
 

2.1.1 356  da  

3561  d  

366 d   

6d  

OR/OF 

35 ( 1)
6

7 1

 



 

 

 substitution 

 

answer                             (2)  

OR/OF      

 substitution 

answer                             (2)                           

2.1.2  dnaTn 1  

  )6(11473  n  

179  n  

80n  

 

 

substitution into the  

   correct formula 

 equating to 473 

 answer                       (3) 

2.1.3 
  dna

n
Sn 12

2
  

     614012
2

40
40 S  

640440 S  

 

OR/OF 

  740640 T  

       = 233 

 la
n

Sn 
2

 

       2331
2

40
  

      6404  

 

 

 substitution 

 

answer                             (2) 

 

OR/OF 

 

 

 

 

 

 substitution 

 

answer                             (2) 

2.2.1  

75    53    35    21 

             

  –22    –18    –14   

             

    4    4     

5T 11 

 

 

 

 

 

 

answer  (A)                 (1) 

2.2.2 cbnanTn  2  

42 a  

   a = 2 

223  ba  

226  b  

     b = – 28 

75 cba  

75282  c  

              c = 101 

101282 2  nnTn  

 cbnanTn  2  

 

 

  a = 2 

 

 b = – 28 

 

 

 c = 101 

                                       (4) 

 

ANSWER ONLY: 

FULL MARKS 

ANSWER ONLY: 

FULL MARKS 
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2.2.3 Minimum value of  nT  

 
 22

28

2




a

b
n  

7n  

 

Minimum value of      310172872
2

nT  

Each term in the new pattern is 
5

1
  the value of the 

terms in the old pattern. 

Maximum value of new pattern 
5

3
  

 

OR/OF 

284/  nTn  

7

284

0284







n

n

n

 

 

Minimum value of      310172872
2

nT  

Each term in the new pattern is 
5

1
  the value of the 

terms in the old pattern. 

Maximum value of new pattern 
5

3
  

 

 

OR/OF 

22 28 101

5 5 5
nT n n     

28

5
22

2
5

b
n

a



  
 

 
 

 

               7  

7

3

5
T    

 

 

OR/OF 

 

 

 

 

 

 n = 7 

 

 min value = 3 

 
5

1
  value of term of  

   old pattern 

 max value 
5

3
        (4) 

 

OR/OF 

 

 

 

 

n = 7 

 

 min value = 3 

 

 
5

1
  value of term of   

    old pattern 

 max value 
5

3
       

(4) 

OR/OF 

 

 ( 5)nT    

 

 

 

 

 

n = 7 

 

 max value 
5

3
        (4)   

 

OR/OF 
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22 28 101

5 5 5
nT n n     

/ 4 28

5 5
nT n    

4 28
0

5 5
n    

4 28n    

      n = 7 

Minimum value of      310172872
2

nT  

Each term in the new pattern is 
5

1
  the value of the 

terms in the old pattern. 

Maximum value of new pattern 
5

3
  

 

 

 

 

 

 ( 5)nT    

 

 

 

 

 

 

n = 7 

 

 

 

 

 

 max value 
5

3
       

(4) 

 

                 [16] 
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QUESTION/VRAAG 3 
 

3.1.1 1T  n

n ar  

110

10
4

1
0241











T  

256

1
10 T                     

 

 

substitution into the  

   correct formula 

 

 answer                        

(2) 

3.1.2 
 



 
8

0

1 ...6425602414256
p

p  

 
r

ra
S

n

n





1

1
 

4

1
1

4

1
11024

9

9
























S  

33,3651

64

38187
9



S
 

 

OR/OF 

 
8

1

0

256 4 p

p





  

1 1 1
1024 256 64 16 4 1

4 16 64
          

33,3651

64

38187
9



S
 

 

 1024  

 

 

  

 9n  

 

substitution into the  

   correct formula 

 

 

 

answer                         

(4) 

 

OR/OF 

 

 

 

 1024 

 rest of expansion 

 n  = 9 terms 

 

 answer                       (4) 

3.2 

    

   32

22

23
2

3
2

1
;3

963
2

1
;96

2

27279
;96








tt

ttttt

ttt
tt

 

 

 
2

3


t
r  

1
2

3
1 




t
 

15

51

232







t

t

t

 

 



3 2

2

9 27 27

2

6 9

t t t

r
t t

  


  

 

 


2( 6 9)t t    

   963
2

1 2  ttt  

 

 

 

 1
2

3
1 




t
 

 

  answer                     (5) 

  [11] 

ANSWER ONLY: 

FULL MARKS 
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QUESTION 4 

 

4.1 
7

3

1
10

2













a  

a93  

3

1
a  

 

 

 subs (–2 ; 10) 

 

 simplification 

 

 answer                       (3) 

 

4.2 )0(gy   
0

1 1
7

3 3
y

 
   

 
 

22
7,33

3
y    











3

22
;0              

 

 

 

 substitution of x = 0 

 

 

 

 

 answer                       (2) 

4.3.1 Translation by 1 unit to the right and 7 units 

downwards 

 1 unit right 

 7 units downwards    (2) 

4.3.2 x

xh 









3

1
)(  

1h : 

y

x 









3

1
 

  xy
3

1log    OR/OF  xy 3log  

 

 

 

 swap  x  and  y 

 

 answer 

 

(2) 

  [9] 
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QUESTION 5 

 

5.1 
  q

x

a
xg 




2
 

Subs (1 ; 0): 

qa

q
a

30

21
0







 

Subs 









2

1
;0  

qa

q
a

21

202

1







 

Solving simultaneously: 

3

1





a

q
 

1
2

3
)( 






x
xg  

   q
x

a
xg 




2
 

 

 

 

 qa 30   

 

 

 

 

 qa 21   

 solving simultaneously 

 q = 1 

 a = –3 

(6) 

5.2 y  R; 1y       

OR/OF       

( ;1) or  (1; )   

OR/OF    

1y   or 1y   

 answer                        

(1) 

5.3 )2(11  xy  OR/OF   c 211  

                            c = 3 

3 xy                3 xy  

 m = 1 

 subs point ( – 2 ; 1) 

 answer 

(3) 

 

5.4 K
/
 (–3 ; 4)  x-value 

 y-value 

(2) 

  [12] 
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QUESTION 6 

 

6.1 76)( 2  xxxf  

  62/  xxf  

062  x   OR/OF 
 
 12

6




x  

3x  

E(–3 ; 16)     

 

 

 

 method 

 

 x-value 

 y-value 

(3) 

6.2 )5( fk    

7)5(6)5( 2 k  

12k    

 

 

 answer  (A)              (1) 

6.3 C(0 ; 7) 

D(–5 ; 12) 

05

712




CDm  

1CDm  

Equation of CD: 

7 xy  

 coordinates of  C 

 

 

 substitution  

 m 

 

 answer 

(4) 

6.4 162  x  

52  x  

2

5
x  

2
5 5 5 63

6 7 15,75
2 2 2 4

y f
       

           
     

 











4

63
;

2

5
P  

 

   62/  xxf  

 equating to  – 1 

 x-value 

 

 y-value (A) 

(4) 

6.5 Point by symmetry: (–1 ; 12) 

15  x  

OR/OF 

  
15

051

056

056

1276

2

2

2











x

xx

xx

xx

xx

 

  –1 

 answer 

(2) 

 

 

 

 

  –1 

 answer 

(2) 

  [14] 
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QUESTION 7 
 

7.1 niPA )1(   

n4

4

085,0
112 








  

 

2log4

4

085,0
1 










n  

24,8n  years 

 

 2 

 
4

085,0
       

 

 use of logs 

 

 answer in years 

(4) 

7.2.1 niPA )1(   

 51000500000180 i  

 
5

5

9
1

25

9
1

25

0,1848068...

18,48%

i

i

i

r

 

 





 

 

 subs into correct  

    formula 

 

 

 simplification 

 

 i = 0,1848… 

 

 answer 

(4) 

7.2.2 niPA )1(   

 5063,01000500A   

A = R678 635,11 

 

 subs into correct  

    formula 

 answer 

(2) 

7.2.3 Sinking Fund  = 678 635,11 – 180 000 

  = R 498 635,11 

 

 

510,36R6

12

1025,0

12

1025,0
11

12

1025,0
1

11,635498

358





































x

x

 

 

 

 value of sinking fund 

 

 

 
12

1025,0
 

 n = 58 (A) 

 

3

12

1025,0
1 








  

 answer (A) 

(5) 

  [15] 

 

 

 

 

 

 

 

In 

correct 

formula 
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QUESTION/VRAAG 8 

8.1   2xxf   

 
   

h

xfhxf
xf

h




0

/ lim  

 
 

h

xhx
xf

h

22

0

/ lim





 

 
h

xhxhx
xf

h

222

0

/ 2
lim





 

           = 
h

hxh

h

2

0

2
lim




 

          
h

hxh

h

)2(
lim

0





 

          )2(lim
0

hx
h




 

  xxf 2/   

 

OR/OF 

  2xxf   

  222 2)( hxhxhxhxf   

               

    2222 2)(2 hxhxhxhxxfhxf   

                                              

 
   

h

xfhxf
xf

h




0

/ lim  

           = 
h

hxh

h

2

0

2
lim




 

          
h

hxh

h

)2(
lim

0





 

          )2(lim
0

hx
h




 

  xxf 2/   

 

 

 

 

 substitution into  

    formula 

 

  2 22x xh h    

 

 22xh h   
 

– 2x – h   

 

 

answer                      (5) 

 

OR/OF 

             

 22 2 hxhx   

 

 22xh h   
 

 

 

 

substitution into the  

   formula 

 

– 2x – h   

 

 

 

answer                     (5) 

8.2.1   23 54 xxxf   

xxxf 1012)( 2/   

 212x  (A) 

– 10x  (A) 

                                    (2) 

8.2.2 








 
4

3 26

x

x
Dx  

=
 


















44

3

1

26

xx

x
Dx  

= 







 


43

11

26 xxDx  

53

14

822 


 xx  

 

 

 
1

3x  

 

 

 3

11

6


 x 42  x  
 

 3

14

22


x  


58  x                           (4) 

                                    [11] 
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QUESTION/VRAAG 9 
 

9.1    3)(
2

 xtxxf  

   

     

    

35)(

312

31

1

1

1

3003

23

2

2

2

2















xxxxf

xxxxf

xxxf

t

t

t

t

 

    3)(
2

 xtxxf  

 subs (0 ; –3) 

 

 

 t  

 

      31
2

 xxxf  

 expansion 

 

(5) 

9.2  

  

3

5
or1

5310

5230

523

2

2/









xx

xx

xx

xxxf

 

N 









27

256
;

3

5
 =  1,67 ; 9,48  

   523 2/  xxxf  

 = 0 
 

 factors 

 x-value (x > 0) 

 

 

 y-value  (A)            (5) 

9.3.1 x < 3  ; 1x                    

 

OR/OF 

1x    or   31  x     

 

OR/OF 

(  ; – 1) or (– 1 ; 3)       

 x < 3   

 1x                       (2) 

OR/OF 

 1x    

 31  x                 (2) 

OR/OF 

 (  ; – 1) 

 (– 1 ; 3)                   (2) 

9.3.2 
1x   or  

3

5
x       OR/OF    1x     or  

5

3
x         

 

OR/OF 

(  ; – 1)   or 







;

3

5
  OR/OF (  ; – 1]   or 

5
;

3

 


 
 

 1x  

 
3

5
x                       (2) 

OR/OF 

 (  ; – 1) 

 







;

3

5
                    (2) 

9.3.3   0// xf  

026 x  

3

1
x     or   








;

3

1
 

 

OR/OF 

5
( 1)

13

2 3

 

  

3

1
x     or   








;

3

1
 

 

 26 x  


1

3
 



3

1
x                        (3) 

OR/OF 

 substitution 


1

3
 

 
3

1
x                      (3) 

ANSWER ONLY: 

FULL MARKS 
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9.4 Distance  52335 223  xxxxx  

    234 23  xxx  

383
Distance 2  xx

dx

d
 

3830 2  xx  

  

3

1
or3

3130





xx

xx

 

Max distance 

52,2
27

68

2
3

1
3

3

1
4

3

1
23































 

 

 234 23  xxx  

 383
Distance 2  xx

dx

d
 

 

 factors 

 

 x-values 

 

 

 

 
1

3
x    

 

 answer                            

(6) 

  [23] 
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QUESTION/VRAAG 10 

10.1.1 7! = 5 040  answer 

(2) 

10.1.2 !4!4   

= 576 

P(African flags together) = 
576 4

0,11
5040 35

 
  
 

 

 4! 

 !4!4   

 

 answer  (A)                   (3) 

10.2 P(A or B) = P(A) + P(B) – P(A and B) 

0,88 = 0,4 + P(B) – P(A and B) 

0,88 = 0,4 + P(B) – 0,4P(B) 

0,48 = 0,6P(B) 

P(B) = 0,8 

 

subs into rule 

P(A and B) = 0,4P(B) 

 

 answer 

(3) 

10.3      First Passenger           Second Passenger 

 

 

 

 

                 

 

 

 

 

       
120

120

x
 

 

 

 

 

Probability of first passenger choosing meat
120

x
          

Probability of second passenger choosing cheese 
119

120 x
  

85

18

119

120

120





xx
 

 
2120 3 024x x   

 
2 120 3 024 0x x    

 

0)36)(84(  xx  

 

36or     84  xx  

 

st 36 3
P( 1  cheese)

120 10
    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



120

x
 

 
119

120 x
 

 
85

18

119

120

120





xx
 

 

 

 

 

 
 
 
 

 36or     84  xx  

 

 
10

3
                                 (5) 

  [13] 
 

  TOTAL/TOTAAL: 150 

M 

M 

M 

C 

C 

C 
120

x
 

120

119

x
 

 


